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As mentioned in para " A good soldier, for instance,
mainly wishes to do his fighting well." Hence right
answer is option (d).

52. The Correct Answer is C

The writer tells in the passage that chief object of
well educated, healthy-minded & intellectual people is
not money but work. Money is important to them and
they ought to like them but doing their work properly
gives them maximum satisfaction. Writer has given the
examples of Doctors and Soldiers to tell that.they like to
be paid well but can remain unpaid and do their work
right than fail in work and get paid.-Hence option C
follows.

53. The Correct Answer is A

Notion means a conception of or a belief about
something which is same as view, idea or concept about
something. While 'subject' is a thing or people that is
being discussed or is under consideration. Hence option
A follows.

54. The Correct Answer is B

As writer has used the words like ill-educated,
cowardly and stupid for people who prefer money over
work, his attitude may be seen as 'critical'. Pessimistic
attitude is seeing bad outcomes in everything,
sympathetic attitude is looking upon with favour and
ironic attitude is characterised by using words very
opposite to what is scenario. Hence option B follows.

55. The Correct Answer is B

As writer has used the words like ill-educated,
cowardly and stupid for people who prefer money over
work, his attitude may be seen as 'critical'. Pessimistic
attitude is seeing bad outcomes in everything,
sympathetic attitude is looking upon with favour and
ironic attitude is characterised by using words very
opposite to what is scenario. Hence option B follows.

56. The Correct Answer is C

From the para "But in every nation, there are a vast
number of people who are ill-educated, cowardly and
stupid. And with these people, just as certainly, the fee is
first and work second, as with brave people the work is
first and fee second." Option C follows.

57. The Correct Answer is C

The gist of the passage is that money is important
but work should always come first and money second.
58. The Correct Answer is D

In the work of incessant and feverish activity, men

have little time to think, much less to consider ideals and
objectives. Thus option 4 is right.

59. The Correct Answer is C



The burden of life’s problems’ refers to the onerous
duties of life.

60. The Correct Answer is A
The two world wars are the price that man paid due
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